The group G is isomorphic to the group labelled by [ 42, 3 ] in the Small Groups library.
Ordinary character table of G = C7 x S3:

la 2a Ta 3a 14a b 21a 14b Tc 21b 14c 7d 21c 14d Te 21d 14e 7f 21e 14f 21f
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 1 1 —1 1 1 —1 1 1 —1 1 1 —1 1 1 —1 1 1 —1 1
s |1 -1 EM' 1 —EM ET° EMS —ET® ET* BT -EM* ET?® E@* -E@? ET? E1® -EM: E(T)  ET? -E1) BT
i |1 -1 B 1 -BP  BE@P  B@P -B@® BT B@P -E(7) B@° BT -E®° B@' B@F -E@' BI?  BO -B@?  B(P
v |1 -1 B@* 1 -BM*  E@)  E@ -BE()  BE@F B -B@)  B@?  B@F -EQ?  EMF  B@? -E@®  E@®  BQ° —BE1P  E(1)
v |1 -1 B@® 1 -B1P BMS  E@® -BE@° E@? EM® -B@? B@P BE@? -EM BT B -ET)  E@ BT BT E(1)
o |1 -1 B@R 1 -B? B B@P? -E@* E@° BT -B@° BT BE@° -B@) BT® BT -E@® E@P  BIP -B1P By
xs |1 -1 B(7) 1 -B(7) ET)? EBE() -EBE(T)? BT BE1? -E© EW' EW> -B(TN' E(7)° BT -ET° ET°  EBET)° -B(7)° E(T)°
v |1 1 E® 1 EM  E® EMS BT E®*  ET® EM* BT EM* E@® E(T? E@?® E®? ET  E®?  E(T) B
wo |1 1 B@P 1 B@F  B1P  E@P  E@ BT EM  B@)  B@° BT E@® B B@°  EM  E@? B BD? B
|1 1 B@* 1 B@*  EB@)  E@'  BE@)  BE@F B BEP  B@?  B@F  E@?  BOF  B@? BT E@®  BQ° BE@ B
xiz | 1 1 E(7)3 1 B(7)3 E(7)8 E(M)?  E(7)° E(7)? E(MS  E(7)? E(7)° E(M?  E(7)? E(7) E(7)° E(7) E(7)* E(7 E(M* E((7)*
el 1 1 E@? 1 E@?  EMY  E(M?  EM*  EMS  E@Y BT BT EM°  E(T)  EM®  E(T)  EM*  E@°  EM?  ET® BT
wall 1 B@m 1 Bn  EB@?  B®  B@?  B@P  BQ?  E@®  B@ EB@P B@ BOP BM B E@®  B@P  E@F B
X15 | 2 0 2 -1 0 2 -1 0 2 -1 0 2 -1 0 2 -1 0 2 -1 0 -1
Yis| 2 0 2%E(MP -1 0 2+EM —E(M® 0  2xE(T)? —E(7) 0 2«E(M)® —E(T)?> 0  2«E(M) —ET° 0 2«EMN* —ET) 0  —BE(7)*
xir| 2 0 2xE(7)? -1 0 2% E(T)* —E(7)? 0 2% E(T)S —E(7) 0 2+ B(T) —E(7)° 0 2x E(T)2 —E(7) 0 2% B(7)5 —E(7)3 0 —E(7)°
xis| 2 0 2xE(7) -1 0 2% E(7)2 —E(7) 0 2% E(T)3 —E(7) 0 2x E(T)* —E(7)3 0 2% E(7T)5 —E(7)4 0 2% B(T)5 —E(7)° 0 —E(7)¢
Xl 2 0 2+EMS —1 0 2«B(T® —EM° 0  2«EBE(M* —E(7) 0 2xB(7)? —BE(D* 0 2+E(T)? —BE(T? 0  2«ET) -EM? 0  —E®)
Xoo| 2 0 2+E(TP —1 0 2+E(T? —E(T® 0  2xBE(1) —E(7) 0 2+E(MS —BE(T) 0  2+BE(1)* —EM® 0 2«EM? —BE(N* 0  —BE(7)?
Xoi| 20 2%E(M* -1 0 2+BE(7) —EM* 0  2+BE(TP° —E(T) 0  2xE(T)?> —ET)P® 0  2«EM° —E(TN> 0 2+E(T® —EMN° 0  —E(1)?
Trivial source character table of G = C7 x S3 at p = 2:
Normalisers V; Ny Ny
p-subgroups of G up to conjugacy in G P P,
Representatives n; € NV; la Ta 3a 70 21a Tc 21b 7d 21c Te 21d 7f 21e 21f la Ta 7b Tc 7d Te 7f
T-x1+1-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 | 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0
0-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo+0-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X19+0-x20+0-x21 | 2 2xE(MN® 2 2xE(7)® 2xE(T)S 2xE(7)* 2+E(7)® 2+«E(7)? 2xE(N* 2+«E(7)? 2xE(7)?® 2xE(T) 2+E(7)? 2xE() |0 0 0 0 0 0 0
0-Xx1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-x10+0-Xx11+0-x12+0-x13+0-Xx14+0-X15+0-x16+0-x174+0-x18+0-Xx10+0-Xx20+0-x21 | 2 2% E(7)> 2 2xE(7)* 2«E(7)° 2xE(7) 2«E(7)* 2«BE(7)°® 2xE(7) 2xE(7)* 2+«E(M° 2«E(7)? 2+«E(7)* 2xE(T7)?*| 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+1-x11+0-x12+0-x13+0-x14+0-x154+0-Xx16+0-Xx17+0-x1s+0-x10+0-x20+0-x21 | 2 2xETM* 2 2xE(7) 2xE(T)?* 2«E(7)5 2«E(7) 2xE(7)? 2xE(7)° 2xE(7)°® 2xE(7)? 2+«E(7)3 2xE(M° 2xE(7)?| 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-xa+0-x5+1-x6+0-x7+0-xs+0-Xo+0-x10+0-Xx11+1-x12+0-X13+0-x1a+0-X15+0-x16 +0-X17+0-x18+0-X10+0-x20+0-x21 | 2 2% E(7)> 2 2xE(7)° 2xE(1)® 2xE(7)? 2xE(7)° 2xE(7)° 2+E(7)?* 2xE(T) 2xE(7)° 2+xE(N)' 2xE(7) 2«EM*| 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+1-x7+0-x8+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21| 2 2*E(7)2 2 2*E(7)4 2*E(7)2 2*E(7)6 2*E(7)4 2% E(7 2*E(7)6 2*E(7)3 2% E(7) 2*E(7)5 2*E(7)3 2*E(7)5 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+1-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+1-xX14+0-x15+0-x16+0-x17+0-x18+0-X190+0-x20+0-x21 | 2 2+E(7) 2 2xE(7)? 2xE(7) 2xE(7)? 2+E(7)? 2+«E(MN* 2xE(7)3 2+«E(7)°® 2xE(M)* 2xE(7° 2+xE(7)°® 2xE(M°%| 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-xX7+0-xs+0-X9+0-x10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21| 2 2 -1 2 -1 2 -1 2 -1 2 -1 2 -1 -1 0 0 0 0 0 0 0
0-X1+0-x24+0-x3+0-xa+0-Xx5+0-x6+0-x7+0-xs+0-X0+0-x10+0-x11+0-x12+0-x134+0-x14+0-Xx15+1-x16+0-x17+0-x18+0-Xx10+0-x20+0-x21 | 2 2% E(7)> -1 2xE7)° —E(7)?® 2«E(7)? -ET)°® 2«EBE(7)° -ET)?* 2xE(7) —ET)° 2«ET)* -E(7) —ET*" |0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-x10+0-x20+0-x21 | 2 2xE(7)? -1 2xE(T)* —-E(M? 2+E(7S -EMN* 2xE(7) —-EM® 2xE(T7)? -E(T) 2+E(7)°> -ET® -E7)?° |0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa4+0-x54+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-x10+0-x20+0-x21| 2 2% E(7 -1 2*E(7)2 —E(7) 2*E(7)3 *E(7)2 2*E(7)4 7E(7)3 2*E(7)5 7E(7)4 2*E(7)6 — (7)5 7E(7)6 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+1-x19+0-x20+0-x21| 2 2*E(7)6 -1 2*E(7)5 —E(7)6 2*E(7)4 —E(7)5 2*E(7)3 —E(7)4 2*E(7)2 — (7)3 2% E(7 — (7)2 —E(7) 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-X190+1-X20+0-x21 | 2 2xE(7)> -1 2xE(7)? —E(7)° 2%E(7 —-E(M)? 2xE(NS —E(7) 2xE(M* —-EMNS 2xE(T7)? -EM* —EM? |0 0 0 0 0 0 0
0-X1+0-x24+0-x3+0-xa+0-Xx5+0-x6+0-x7+0-xs+0-X0+0-x10+0-Xx11+0-x12+0-x13+0-x14+0-X15+0-x16 +0-x17+0-x18 +0-x10 +0-x20+1-x21 | 2 2% E(7N* -1 2xE({7) -—-E(N* 2«E(M)° —E7) 2«BE(1)? -—ET)° 2«E(7)° —EM?> 2«ET)?® -E(MN® —E{)? |0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-Xx12+0-x13+0-x14+0-x15+0-x16+0-x17+0-Xx18+0-x10+0-x20+0-x21| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-Xx20+0-x21| 1 E(7 1 E(7)? E(7) E(7)3 E(7)? E(7)* E(7)3 E(7)° E(7)* E(7)¢ E(7)° E(7)8 1 E(T) EM? EM? EM* ET)?® E(T)°
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 | 1 E(7)? 1 E(7)* E(7)? E(7)S E(7)4 E(7) E(7)¢ E(7)3 E(7) E(7)° E(7)3 E(7)5 1 E(M? EM* EM® ET) ET ET)?°
0-x14+0-x2+0-x34+0-x4+0-x54+0-x6+0-x74+0-xs+0-X0+0-x10+0-x11+1-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-x190+0-Xx20+0-x21 | 1 E(7)3 1 E(7)¢ E(7)3 E(7)? E(7)8 E(7)° E(7)? E(7) E(7)° E(7)% E(7) E(7)% 1 E(M? EM® EM? EM® ET) EM)*
0-x1+0-x24+0-Xx3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x04+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18 +0- X190 +0-x20 +0-x21 | 1 E(7)* 1 E(7) E(7)* E(7)° E(7) E(7) E(7) E(7)° E(7)° E(7)° E(7)° Em? |1 B(M* BT BT ET? BET° B(7)?
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-x17+0-x18+0-x19+0-x20+0-x21 | 1 E(7)° 1 E(7)3 E(7)° E(7 E(7)3 E(7)8 E(7 E(7)* E(7) E(7)? E(7)* E(7)? 1 E(M° EM® ET EM® ET)* E(7)?
0-x1+0-x2+0-x34+0-x4a+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15 +0-x16 +0-x17+0-x18+0-x19 +0- x20+0-x21 | 1 E(7)8 1 E(7)° E(7)¢ E(7)* E(7)° E(7)3 E(7)* E(7)? E(7)3 E(7) E(7)? E(7) 1 EMS EM> EM* ET)? ET)? E7)
Py = Group([()]) = 1
Py = Group([(1,2)(3,5)(4, 12)(6,9)(7, 10)(8, 18)(11, 15) (13, 16) (14, 24)(17, 21)(19, 22) (20, 30) (23, 27) (25, 28) (26, 36) (29, 33) (31, 34) (32, 40)(35, 38) (37, 42)(39, 41)]) = C2
Ny = Group([(1,2)(3,5)(4,12)(6,9)(7, 10)(8, 18) (11, 15)(13, 16) (14, 24) (17, 21)(19, 22) (20, 30) (23, 27) (25, 28) (26, 36)(29, 33) (31, 34) (32, 40)(35, 38) (37, 42)(39, 41), (1, 3,7, 13, 19, 25, 31)(2, 5, 10, 16, 22, 28, 34) (4, 8, 14, 20, 26, 32, 37) (6, 11, 17, 23, 29, 35, 39)(9, 15, 21, 27, 33, 38, 41)(12, 18, 24, 30, 36, 40, 42), (1, 4, 9)(2, 6, 12) (3,8, 15)(5, 11, 18)(7, 14, 21)(10, 17, 24)(13, 20, 27) (16, 23, 30)(19, 26, 33) (22, 29, 36)(25, 32, 38) (28, 35, 40) (31, 37, 41)(34, 39, 42)]) = C7 x S3
No = Group([(1,2)(3,5)(4,12)(6,9)(7,10)(8, 18) (11, 15)(13, 16)(14, 24) (17, 21)(19, 22)(20, 30)(23, 27) (25, 28)(26, 36) (29, 33) (31, 34)(32, 40) (35, 38) (37, 42) (39, 41), (1,3, 7, 13, 19, 25, 31)(2, 5, 10, 16, 22, 28, 34) (4, 8, 14, 20, 26, 32, 37)(6, 11, 17, 23, 29, 35, 39)(9, 15, 21, 27, 33, 38, 41) (12, 18, 24, 30, 36, 40, 42)]) = C14




